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QUESTION 1

A company is evaluating the VMware Hybrid Cloud solution and has asked an administrator to research its advantages
and respond back to the implementation manager. (Choose three.) 

A. Hot migration of virtual machines between datacenter or private cloud and vCloud Air. 

B. Common management tool for on-premises and off-premises management of workloads. 

C. Common platform for existing and new applications. 

D. Seamless networking layer between your datacenter or private cloud and vCloud Air. 

E. Solution to migrate physical servers to cloud. 

Correct Answer: ACD 

 

QUESTION 2

Which three connection types allow administrators to migrate workloads to vCloud Air? (Choose three.) 

A. vCloud Connector 

B. Internet 

C. Leased Line Connection 

D. Online Data Transfer 

E. FTP Server 

Correct Answer: BDE 

 

QUESTION 3

Which two statements are true regarding VMware vCloud Air? (Choose two.) 

A. vCloud Air offers a new set of tools and applications, which can be integrated with the existing data center. 

B. vCloud Air is an extension of the software-defined data center. 

C. vCloud Air allows administrators to move existing workloads to the cloud. 

D. vCloud Air enables administrators to redesign their on-premises infrastructure with ease. 

Correct Answer: AC 

 

QUESTION 4
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Which networking component or feature is the primary building block for vCloud Air networking? 

A. Firewall 

B. NAT 

C. Edge Gateway 

D. Load Balancer 

Correct Answer: D 

 

QUESTION 5

Which two options correctly show how many public IP addresses are supported in each core cloud service offered by
VMware? (Choose two.) 

A. Disaster Recovery Cloud Two IP addresses 

B. Virtual Private Cloud Two IP addresses 

C. Dedicated Cloud Two IP addresses 

D. Disaster Recovery Cloud Three IP addresses 

Correct Answer: AC 
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